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1 Petabyte is equal t0 e " ealnitls 1 1
1024TB (D)  1024MB (©) 1024GB (B) 1024KB (A)
DHCP stands fOr wommee - ¢ DHCP | 2

Dynamic Host Configuration Protocol (C) Dynamic Host Computer Protocol (B) Data Hosting Computer Protocol (A)
Data Hosting configuration Protocol (D)
In IPv 6 , therc are 8 groups , 56parated By . LS AEn S8 L V6 | 3

. D ; © ¢ ® » (W

... Installing more copics of the software than have license for £/ U Ul s 3 £ 4 %S S | 4
Oniine piracy (#,cfiel (C) Counterfeiting  (i-f? (B) * Hard disk loading O34 (W)

Client serveroveruse Jyssissif (D)

A g00d passwOrd is at 1685t «..rrr.... characters long et (b7 Faftsuypgi | s
v 12 @ 10 (© 8 ® 6 W

... tag isused for inserting a line break e bl U1 L2 S Laf Fof 6
<u>(D) <br> (O <i> (B) <b> W

......... tag is used to make text italic et Lo Sfobf | 7
/ <i>(D) <u>(C) <br> (B) <b>()

i L& S ES pbsgPorted | 8

. Symbol is used to determine the flow of steps in a flowchart

om —r0© <@ — W

Algorithm is & 86t Of wenre to solve a problem P S S WA e

Conditions 417 (D) Input ¢t (C)  Steps Sir (B)  Results te W
Binary number system has total ... numbers u!L.nﬁi ......J/ uﬁ(@d:ﬁdb‘f 10
2 8@ 16@® 17 W
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Q.No.2: Write short answers to any four of the followings ~ 4x2=8 e B Lanle b dits 240y
Describe the impertance of prototype in planning of a solution el LSs0S | i
Write the names of 5 ws - ) ﬁ rl:[_s ws | ii
Explain the decision making oS ddd | i
What is meant by trace table ? el rie SR | v
Describe the characteristics of HTML iukz:a?:’. S HTML | v :
Write the output of the following code in HTML oIz oML | vi f
<html>
<body> }
<P> My First Paragraph </P>
</body> a
</ ntml > ;
Q.No.3: Write short answers to any four of the followings 4x2=8 -é/,;’ ..-:«I_.I:‘:/‘? [.Azmg‘:,u:gtsz-,» 3% /:‘.Uly' ﬁ
Convert (786);o to Hexadecimal b LSS (186) | t
Explain ‘NOT’ operator ool iyl 'NOT' | i F
| What is meant by Non Volatile Memory ? Tt A el Sevsset | i ;
What is difference between ‘ Bit” and ‘Byte' ? e U/ UiByte 4l Bit | iv t;
What does you know about ‘ DOS ” attack ? S T AL DOS | v :
Define Cypher Text : Zy el | vi
Q.No.4: Write short answers to any four of the followings 4x2=8 ez A L.lzul:c_u.‘.dj(w 41Uy
Give an example of point to point connection ’é-_;dhf u;éf .‘jlﬂd!{ i
How would you explain working of Server System ? S &_.r.vlbn!é_f rb’L(U st | i
Write the usage of FTP Z /U FTP | i
Define the hub é:.-!’ /7 J -t | iV
Write difference between ordered list and un—ordered List 2 FOp LS i el | v
| ‘Write the output of given HTML code e fuesT aML L5 | vi
<him] > <head > < title > welcome </title> < /head >
<body> <P > [ Love Pakistan < /P> < /body> < /html >

(Part ID (2.2
Note Attempt any Two questions from this part 8x2 =16 Lot ton )
e Lt Ly S L oS el Tiunt Fobie L L& LN | sAdr
Ifa problem has multiple algorithms then how would you choose the most efficient one. Explain with examples
Explain the components of Communication System. -é:—?lhx!plz 1 L(b'/ u‘/"(: ;.:r 64Ul
Write importance of encryption for everyday life on internct 2, P eSSk By prrlins i | 140
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HTML is8 —— Language el i HTML | 1
Markup language &% IS (B) Machine langusge &% (A)

System langusge &2~ (D) Binary language L8267, (©)

Which solution aco 2ot reached through proper algorithm or work planning ? el < (Planning) Syl eS| 2
Strategized sotution G4 =#(C)  Candidsolution 4%/ (B)  Preparod solution St )

' . Best solution S L A (D)

Problem analysis is the Process to fIUre out ............. Ws e OnCogdWa) IS L | 3
| @ 5@ 4@ 3W

Expression (A + B) . (A + €)is equalt0 moweees. e dndslm—(A+B).(A+CO) | 4
A+(B+C) D) Av.(B.C) © A.B+A.C (B A+(®B.C) (W

) .. i temporary memory . PEY P 81 -5
Flashdrive ZUS 2% (D)  Volatile fts(C)  Harddisk L334 (B)  Nomvolatile St (A

The TPv4 is made up Of ... binary bits P YT —— Y5 T
32 (D) 31 30 ® 29 W

........ allow users to communicate using e mail , NEWS groups eic. LS Ipedd LS Lo S docsalf 7
Hardwarssorver a7l (D) Mailsarver sy (C)  Printorserver a7 #4 (B)  Fileserver S ()

Which of the following docan’t inchudes the types of software piracy ? e SEL IS A e LI | 8
Online piracy (& #cfef (D) Client server overuse 3l paf¥(C) Lighility -3 (B) Softlifting il (W)

... crimo involve computing oo B tp) | 9
Cyber AL (D)  Tax A© cwil Jr®  Eleetic S

An individual fist itom can contain another entire list called —-v. W g G it SR i | 10

Definition list e)ﬂs(n) Nested list &% (C) Unorderedlist </34Tet (B)  Ordered list AT (A
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Q.No.2: Write short answers to any four of the followings 4x2=8 .2§.g; =4z A £pl2b§c..u.‘.'¢,t3@a 234 1
Define verification Tl ey
| Define candid solution - Zop it |
What is Act it Out ? el pfceslaicd | i
Wit the use of symbol connector in flow chart LUt ) poigh |
What is Hypertext ? Sqsl el | v
Write output of the following code oS hits | vi
' <html >
< body >
<I> Iam student < /1>
< / body >
</ html >
Q.No.3: Write short answers to any four of the followings ~ 4x2=8 B fe W Lt b fliln 31y
Convert (11000001), to Hexadecimal b TS LS (11000001), | i
What is meant by Non ~Volatile Memory ? Sel plfeort Srumt | i
Define proposition 2{4 /‘7 Jc)?-i,zb; iii
Write distributive law %—’ LFJ o | v
IExplaincybercrime ] Zeobs§f/ A |y
LDescn'be the caeser cipher with examples :.’{-:.Jlbm..u)ﬁ'ufugé SMese | i
QNo.4: Write short answers to any four of the followings 4x2=8 i fer L anbee Sdits 4 ANy
What is transmission medium ? s'q.e-ngﬂyu"*f’ 12| i
Write the purpose of FTP protocols 2,7 AR |
What is computer network ? ?q:.?:t&r ..f/:.ﬁg’}.ﬁ( ji
Describe the message ‘ ﬁ.:wb:d?&; iv
Which tag is used to attach the image ? Se bt Tag Uil LI 67 | v
Describe purpose of < Title > tag Z sl P<Title> | vi
(Pant ID (222
Note: Attempt any Two questions from this part 8x2 =16 ezl atrnlfc o )
i'wéfr)"d..’d/!}m’d’ (’ P oT-Z&E y! (’ | sy AUy
Define an algorithm. How can you determine the efficiency of an algorithm ?
Describe Star and Mesh topology 2 GHIE s | 6140
Explain substitution cipher methods with example Feobse JOSURSLSIB I | 14Uy
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